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Ultra96-V2 (FPGA + CPU)
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from pyng import Owver lay
from pyng import MMIO

Jupyter notebook L T®D
EITDHF

@ I\— RO TFDEFE
base = Ouerlay(”/nome,/xi Linx/pyng over Lays,201210_QUBO_Solver/design_1.bit™)

bram0_adcr - base. ip_dict[ axi_bram_ctrl 0']["phys_addr']
braml_adcr = base_ip_dict| axi_bram_ctrl_1'||"phys_addr’|

print(hex(brand_addr)) In 34 : import time
print(hox (br: arddr)) ctrl.write(4, 1) %fi_
bramo = MMIJ- ase_addr = bram0_gddr, lenglh = 256 = 1024) ctrl.write(da, 1) @' T
braml = MMIO(base addr - braml addr, length — 16 = 1021)
™ = time.time()
ctrl_addr = base_ip_dict| 'axi_gpio_0']|'phys_addr'| ctrl.write(a, axFFFFFFFF)
print(hex(ctri_addr)) while ctrl.read(0) != 0:
ctrl = NMTO(base_addr = ctrl_ador, length = ox1000} pass
11 = Lime, Lime()
elapsed_Lime_prop = L1 - LD
PR
fnr y in range(WAK_N) == == print('Elapsed time {Prop) c]:', elapsed time prop)
for x in r]ng (NMXK) @ El gﬁﬁﬁ print('Elapsed tire .’Cm'vs c]: ', elapsed tive conv)
idx =y * MAXN = x prinmt('Rate: ', elapsed_tine_prop / elapsed_time_conv)
if x j . .
Inramt!; write(d”idx, int(JIyl1xl}) Clapsed Time (Prap) :sec]: . 0BL71G 9496 (60137
alse Elapsed Tine (Conv) [52¢]: D.0L74033546447 7539
(o write(a®idx, int(h[y]}) Rate: 2.2571620351841855
fo spin stato ( g In [35]: read stale - np.ones[(MAX N,), clype-mp.int32)
roi mlaupa nun forl in range(pack num}.
braml. wr%t {(7=(i+8), inL(slele_compressed[i])) brﬁﬁlpﬁ 2ad (47 [ 1+48)) @ .%%ODHRJTS}
i \re_ r_List t(formatival 3
4 parameters . for] in nnfl :
braml write(4*0, int(beta_init)) if val_str_| T[ﬂ J] =
braml_write(4*1, mt[beta delta)) rud slale[i732+]] =
bram1_write(4*7, mt[ nnpl) else
bram wri’n(-l EN m’[( Lonp)) \ead state[i*3
brenl.urite(4*4, int(rand_value_inii)) read_cnergy = np.dot{ (np. dat reac stat 1), read_state] // 2 + np.dot(h, read_state} +
braml.write(4*s, int(N - 1)) print('-- read ensrgy -

. print(read_snergy)
44 coe-hot table
for i im range(32)

-- read enzrgy --
bramy.writa(e*(i+16), int(tbL[i][0]]) o
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